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Note : Question No. 1 is compulsory. Attempt any

four questions from questions No. 2 to 6.

SECTION–A

1. (a) Match the items given under column ‘A’ with

those shown in column ‘B’ : (4 × 1/
2
 = 2)

Column A Column B

(a) Earthworm (i) Natality

(b) Elephant (ii) Pollination

(c) Ecosystem service (iii) Keystone Species

(d) Population growth (iv) Detritivores

(b) State whether the following statements are

‘True’ or ‘False’ : (4 × 1 = 4)

(i) Denitrifying bacteria give back free nitrogen

to the atmosphere.

(ii) Mesophytes grow in dry habitat and welt

aerated soils.

(iii) A food chain that begins with dead organic

matter is called a detritus food chain.

(iv) Aerobic heterotrophs reduce organic sulphur

to sulphate ion.

(c) Fill in the blanks : (4 × 1 = 4)

(i) Autotrophic planktons are called.........

(ii) A zone with constant temperature in the

atmosphere is called an .........

(iii) Oversaturation of soil with water is called as

........ .

(iv) The ecological factors related to soil and

substratum are called .........

2. Differentiate between the following pairs of terms :

(4 × 2 1/
2
 = 10)

(i) Indeterminate species and vulnerable species.

(ii) Autogenic and allogenic succession.

(iii) Benthic zone and Pelagic zone.

(iv) Natural and Artificial ecosystem.
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3. (a) Why conservation of wildlife is important ?

Explain. 5

(b) Draw a well-labelled diagram of the carbon

cycle. Describe the impact of human on the

carbon cycle. 5

4. (a) List the different types of ecological pryamids

and describe any one of them. 5

(b) Discuss, how social forestry can help in forest

conservation. 5

5. (a) Describe the various steps involved in

succession processes. 5

(b) Discuss the various consequeness of air

pollution. 5

6. Write short notes on any two of the following :

(5 × 2 = 10)

(i) Biosphere

(ii) Littoral zone

(iii) Biological oxygen demand

(iv) Genetic diversity of the population
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,y-,l-bZ--02 : ikfjfLFkfrdh

le; : 2 ?k.Vs vf/kdre vad : 50

uksV % iz'u la- 1 vfuok;Z gSA iz'u la- 2 ls 6 esa ls fdUgha pkj

iz'uksa ds mÙkj nhft,A

1. (a) dkWye ‘A’ esa fn, x, enksa dk dkWye ‘B’ ds ls

mfpr feyku dhft, % (4 × 1/
2
 = 2)

dkWye A dkWye B

(a) dsapqvk (i) tUenj

(b) gkFkh (ii) ijkx.k

(c) ikfjfLFkfrd ra= (iii) dhLVksu Lih'kht@tkfr

    ds dk;Z

(d) tula[;k o`f¼ (iv) eyck [kkus okys tho
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(b) crkb, fd fuEufyf[kr dFku ^lR;* gS ;k ^vlR;*

gS % (4 × 1 = 4)

(i) foukbVªhdj.k thok.kq ok;qe.My esa eqDr

ukbVªkstu dks okil ykSVkrs g®A

(ii) leksn~fen (ehlksQkbV) 'kq"d i;kZoklksa vkSj

lqokfrr e`nk esa mxrs gSaA

(iii) e`r dkcZfud inkFkZ ls vkjEHk gksus okyh [kk|

Ük`a[kyk vijn vkgkj Ük`a[kyk dgykrh gSA

(iv) ok;qthoh ijiks"kh dkcZfud lYQj dk lYisGV

vk;u esa vi?kVu dj nsrs g®A

(c) fjDr LFkkuksa dks Hkfj, % (4 × 1 = 4)

(i) Loiks"kh Iyod ..............dgykrs g®A

(ii) ok;qe.My esa fLFkj rkieku okyk {ks= ...............

dgykrk gSA

(iii) e`nk esa ty vfrlar`Irrk ............dgykrh gSA

(iv) e`nk vkSj fØ;k/kkj (lcLVª sVe) ls lEcfU/kr

ikfjfLFkfrd dkjd ......... dgykrs g®A

2. fuEufyf[kr ;qXeksa ds chp vUrj crkb, %

(4 × 21/
2
 = 10)
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(i) vfu/kkZfjr tkfr;k¡ vkSj vfrlaosnu'khy tkfr;k¡

(ii) Lotfur vkSj vU;=tfur vuqØe.k

(iii) furyLFk {ks= vkSj osykiorhZ {ks=

(iv) izko`Gfrd vkSj o`Gf=e ikfjra=

3. (a) oU;tho laj{k.k D;ksa egRoiw.kZ gS\ O;k[;k dhft,A

5

(b) dkcZu pØ dk lqukekafdr fp= cukb,A dkcZu pØ

ij euq";ksa ds izHkko dk o.kZu dhft,A 5

4. (a) fofHkUu izdkj ds ikfjfLFkfrdh; fijkfeMksa ds uke

crkb, vkSj muesa ls fdlh ,d o.kZu dhft,A

(b) lkekftd okfudh fdl izdkj ou&laj{k.k esa lgk;d

gks ldrh gS] bl ij ppkZ dhft,A

5. (a) vuqØe.k dh izfØ;kvksa esa lfEefyr fofHkUu pj.kksa

dk o.kZu dhft,A 5

(b) ok;q iznw"k.k ds fofHkUu ifj.kkeksa ij ppkZ dhft,A 5

6. fuEufyf[kr esa ls fdUgha nks ij y?kq fVIi.kh fyf[k, %

(5 × 2 = 10)

(i) thoe.My

(ii) osykapyh {ks=

(iii) tSo&vkWDlhtu ek¡x

(iv) lef"V dh vkuqoaf'kd fofo/krk

***
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